»Counting in sixes

The frog jumps in sixes. St
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Put 10 spots on euch ludyb:rd Count in tens.

How many spots have

(@ 3 ladybirds? | 30 | () 7 ladybirds? (©) 9 ladybirds?
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Number puzzle

3 The tree is like a number stria
3 . It has numbered steps. 4 . )
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_ Freddie is at 4. e =l o L
., He goes up 5 steps. BECL
Now he is at 9. (4+5)-2= r iy |
He comes down 2 steps. =
Now he is at 7. k = D )

Where is Freddie after he moves up and down?
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, 1 Thezre were 5 drinks on one tray
~and 3 drinks on another tray.
The children drank 6 drinks.
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| ‘many drinks were left?

re birds came along.
' 4 birds flew away.

many birds were left?
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e 20 apples in a bag.




Number stories

then she lost another 1 card.

The children were playing SNAP.
31. Ken had 7 cards. {7 [+{10)~[6 | =[11]]
~ He won 10 more cards. 7 &
Then he lost 6 cards. + 10 "6
SRR TSR
‘ 2. Eva had 6 cards. ( 6 + 2 )+ b4 =3
& She won 3 cards and & vl
then she won 4 more cards.
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3. Emma had 10 cards. lO ? 1 l " ?]
She lost 2 cards and |O '
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- 4. Brian had 9 cards.
He lost 5 cards, but
then he won 6 cards.

i




